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Is this land we farm our own?
Or.ds it from above on loan?

Received from father passed to son,
this soil resource is never done.

Producing crops with increased yields,
demanding more from fragile fields.

As we labor with great toil,
let us not for get the soil.

Help to build and not deplete,
the soil resource under our feet.










SEEING DOUBLEI e

S. K. Worm is judging a Look-A-Like Contest.
A number of his worm friends have dressed up WORM
llke S. K. Worm. The elght finalists are below.

Each looks a lot like S. K. Worm but only one looks
exactly the same. Study the real 8. K. Worm and

look very closely at the contestants to find the

worm that is an exact match and award him the prize!

during rainfall or when winter snow
melts, or suddenly during floods.

EROSION is a process that removes
soil and carries it away from farmer's
flelds to bodles of water or other areas
of land. Erosion resulls in the loss of
valuable soil and the important
nutrients that crops need to grow.
There are two primary kinds of erosion:

TILLAQGE - The way a farmer tllis the
land impacts how much soil loss
occurs from wind and water eroslon.
The kind of equipment used, how often

WIND and WATER. the farmer tills the fields, and how the
farmer manages the flelds during
WIND EROSION occurs when wind winter affect how much soll may be

lost. Heavy machinery, frequent tilling,
and lack of soll cover during winter
months contributes to scll erosion.

blows and spreads soil particles across
the land. it Is a problem In areas where
the land is especially flat or dry.









S'OI l com VA"O” a”Iz How much do you know about soil?

Soll Is formed from rocks and
decaying plants and animals?

a. True b. False

e How many tons of castings can
earth worms deposht on one acre?

o A raindrop hits the Earth at about

what speed?

a. 5 mph b. 15 mph ¢. 50 mph
A ton of soll spread over an acre

would be how thick?

a. The thickness of your big toe
b. 12 inches
¢. The thickness of a dime

a. Less than one ton
b. 100 tons c. 15 tons

0 How many worms can be found In an

acre of soll? 0 A rill becomes a gully when...

a. A tractor can no longer cross it
b. it becomes navigable by boat
c. Birds refuse to fly over It

a. one hundred b. one thousand
¢. one million

o Which Is not a type of water erosion?
@ Where did the 1939 dust bowl occur?
a. Sheet b. Gully

c. Sediment d. Rl a. Mojave desert  b. California

¢. Great Plains d. Salt Lake City
e What is not a factor in soil erosion?
() Whet caused the dust bowl?

a. Soil type b. Rain

¢. Land slope d. Clouds a. Plowing fraglle soll

b. Drought and wind
¢. Grasshopper plague

How many types of solis have been
d. All of the above

identified in the U.5.?
a. Over 70,000 @ Which is not a conservation practice?
b. Less than 15,000

c. 37,953 a. No-till
b. Sodbusting
o What harm can soil c. Terracing

erosion causa?
@ Which is not a component of s0il?
a. Pollutes water
b. Burles young crops
¢. Lowers crop productivity
d. All of the above

b. Plastic

What percentage of
farmland is adequately
protected from

soll erosion?

DID YOU KNOW?
The composition of the soll In
an area has a direct effect on

a.10%  b.40% c. 80% '
@ ® the plant and animal life there.

































